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NJ-1264 ' 125
B.Sc. (Part-) Examination,
Mar.-Apr., 2023
CHEMISTRY

Paper - I

(Organic Chemistry)
Time Allowed : Three Hours
Maximum Marks : 33

Minimum Pass Marks : 11

dic ;9 g és‘ IR 'cﬁ%l?l
Note : Answer all questions.
go-1 / UNIT-I
Q. 1. (a) R dfga faRae: 242=4

(i) vdifed 3re @ NaT BiHG A vea R
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(2)
i) A vl s @ gee 7 vaer st

Write with reason :

(i) Formic acid is stronger than acitic acid.

(ii) Methyl amine is stronéer base than
ammonia.

e vd %ww fraues B saERuT e

AR 3

Explain homolytic and heterolytic cleavage

with examples.
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(3)

(a) ®EM FaT & ? WD YR U &I B [ @
guie s 4
What is carbene ? Describe its type and

method of preparation.

(b) FefeRaa & 3R mam fafae : 1+#1+1=3

&)
(i) @
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(4)

Draw resonating structure of given

intermediates

(ii) - ;
r e
!
@ -
(iii) \’ -
sos-II / UNIT-II
Q 2. (a) Wiexor ) feuon faRae| 2

Write short notes on racemization.
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(b) wRiRw wu vd swfifars ®u @ FaEROT Aed
fofeel 3
Write Enantiomer and Diastereomer with
examples.

(c) Dextro and laevo §aur oid ] g? 2
What is dextro and laevo rotatory ?

3re@ar/ OR

(a) Frfeiiad BT 3aTeRvr Afed THRRe : 1%2+1%=3
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(6)

Explain the following with examples :
(i) Epimer
(i) Specific rotation

(b) CH; — CH = CH - CH = CHCI & f&a3
saffa Rewm d@wa g2 2
How many geometrical isomer is possible in
CH; — CH = CH - CH = CHCI.

(c) mmﬁmﬁaﬁrmaﬁ%mz

Explain isomerism in tartaric acid.
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go$-111 / UNIT-IIT

Q.3. (a) SRR @9@ Rigia @®&n 27 zad & G
fofau| 4
What is Bayer strain theory ‘? Write its two

limitations.
(b) TEmor Fm g ? n-aqaqa%ﬁmmrauh
Pifore| 3
What is conformation ? Explain conformation

of n-butane.

Jiyar / OR

NJ"1 264 PITIOI



T §IRT 37,

Draw thé energy profile diagram of different
conformation cyclohexane.
(b)ﬂﬁaﬁ’rﬁrﬁ?ﬁﬂa?%aéwéaa‘r
NREIE - 2
Explain strainless  'banana  bond' in

Cyclopropane.

(c) ﬁmféﬁgaﬁrmﬁﬁauau%aw%f@v:m

) CHy-cH, - CH, - cH,
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(i) CH, ~ CH,
(iii) CH,Br — CH,Br
Write eclipsed and staggered forms of the
following :
() CHy~ CH, - CH, - CH,
(i) CH, - CH,
(if)  CH,Br - CH,Br
gB%-IV / UNIT-IV
Q. 4. (a) waaEs o AT § MW |® HBr ¥ am

@ fwafaftr fofae) 3
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(10)

Write mechanism of addition of HBr in

propene in the presence of peroxide.

(b) MR sfufeant o1 gf Hifsw: 1+1+1=3

() R-c=c-r_23/H0 [A]+[8]

y SHeCH Br—22",[C] + [D]
1]
Br

O

I oo
(i) R-o_g_ CH2=P(Ph),

>[E]

Complete the following chemical reaction :

) R-C=C-R O3/H207\[A]+[B]

oy SH=cHer—=sc) [o]
Br
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o)
[ _
(i) R-C-R ol S o) »[E]

Jyar / OR
(a) dcow fom @ SaeRer wWfed GHsgel 3
Explain Saytzef rule with examples.
(b) TepT # gelsHiaRor &1 fparfafdr wfea oM
it 3
Describe halogenation in alkane with

reaction mechanism.

g~V / UNIT-V

Q. 5. (a) FiciRaa sffbansi & afkl Rae: 2+2=4
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(12)
() M # GBI
(i) &9 # |EPHIEHT
Write the mechanism of following reactions :
() Nitration in Benzene
(i) Sulfonation in Benzene
(b) Frefifian odfs A § Wk e

'aﬁqﬁﬁﬁﬁm 2

() @
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Identify the aromatic compounds from the

following organic compounds :

()
(i) @
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(15)

Why cyclopentadinyl  anion and

cycloheptatrinyl cation is aromatic ?
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